

SIGNATURE PAGE

RFQ# F-13-2025

To the Board of County Commissioners of the County of Monmouth:

**THE UNDERSIGNED HEREBY DECLARES THAT
I (WE) HAVE CAREFULLY EXAMINED THE SPECIFICATIONS.
I (WE) HEREBY CERTIFY PRICES QUOTED ARE IN ACCORDANCE
WITH YOUR REQUIREMENTS.**

Company Name: The Collins Group Inc dba CollinsFlags.com
(PRINT)

Preparer's Name: Marsha Williams
(PRINT)

Signature: Marsha Williams 9-19-24
(DATE)

Address: 1139 S. Baldwin Ave
Marion, IN 46953

Telephone No.: 800-950-4061

Fax No.: 765-668-4290

E-Mail Address: procurement@collinsflags.com

*****(This should be the email where Contracts would be sent)*****

Contact Person: Marsha Williams

FEIN: _____
(Federal Employee ID)

County of Monmouth

RFB# F-13-2025



REQUEST FOR BID

----- This Is Not An Order -----

Monmouth County Purchasing
Hall of Records, 3rd Floor
1 East Main Street
Freehold, NJ 07728
(732) 431-7370 Fax (732) 431-7379

Contact: Sophia Giezey
732-431-7370 x7381

FURNISH AND DELIVER FLAGS FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2025 THROUGH DECEMBER 31, 2025 (MONMOUTH COUNTY CO-OP)

RFB must be received no later than: September 25, 2024 10:30AM

For Delivery to: Various Delivery Locations. See Details Below.

Delivery Date: 1/1/2025 - 12/31/2025

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
FACILITIES MANAGEMENT (ON-CALL, AS NEEDED)				
1	3' X 5' OUTDOOR UNITED STATES FLAG, NYLON FLAG TO WEIGH NO LESS THAN 9.8 OZ Packaging: <u>Poly Bagged</u> MFG/Brand: <u>Valley Forge</u> Product No: <u>Z010103001</u> Variances, if any: <u>n/a</u>	5 EACH	\$22.13	\$110.65
2	4' X 6' OUTDOOR UNITED STATES FLAG, NYLON FLAG TO WEIGH NO LESS THAN 13.9 OZ. Packaging: <u>Poly Bagged</u> MFG/Brand: <u>Valley Forge</u> Product No: <u>Z010104001</u> Variances, if any: <u>n/a</u>	20 EACH	\$29.36	\$587.20
3	5' X 8' OUTDOOR UNITED STATES FLAG, NYLON FLAG TO WEIGH NO LESS THAN 1.29 LBS. Packaging: <u>Poly Bagged</u> MFG/Brand: <u>Valley Forge</u> Product No: <u>Z03320103001</u> Variances, if any: <u>n/a</u>	40 EACH	\$42.89	\$1,715.60
4	3' X 5' OUTDOOR NEW JERSEY FLAG, NYLON FLAG TO WEIGH NO LESS THAN 9.8 OZ. Packaging: <u>Poly Bagged</u> MFG/Brand: <u>Valley Forge</u> Product No: <u>Z03320103001</u> Variances, if any: <u>n/a</u>	3 EACH	\$27.71	\$83.13



REQUEST FOR BID

----- This Is Not An Order -----

Monmouth County Purchasing
 Hall of Records, 3rd Floor
 1 East Main Street
 Freehold, NJ 07728
 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Giezey
 732-431-7370 x7381

FURNISH AND DELIVER FLAGS FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2025 THROUGH DECEMBER 31, 2025 (MONMOUTH COUNTY CO-OP)

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
5	4' X 6' OUTDOOR NEW JERSEY FLAG, NYLON FLAG TO WEIGH NO LESS THAN 13.9 OZ. Packaging: <u>Poly Bagged</u> MFG/Brand: <u>Flagzone</u> Product No: <u>702320104001</u> Variances, if any: <u>n/a</u>	10 EACH	\$36.52	\$365.20
6	5' X 8' OUTDOOR NEW JERSEY FLAG, NYLON FLAG TO WEIGH NO LESS THAN 1.29 LBS. Packaging: <u>Poly Bagged</u> MFG/Brand: <u>Flagzone</u> Product No: <u>702320105001</u> Variances, if any: <u>n/a</u>	5 EACH	\$52.96	\$264.80
7	3' X 5' OUTDOOR MONMOUTH COUNTY, NEW JERSEY FLAG, NYLON CUSTOM COUNTY FLAG DESIGN TO BE PROVIDED IN VECTOR ARTWORK FLAG TO WEIGH NO LESS THAN 9.8 OZ. Packaging: <u>Poly Bagged</u> MFG/Brand: <u>annin</u> Product No: <u>Custom</u> Variances, if any: <u>n/a</u>	5 EACH	\$85.30	\$426.50
8	4' X 6' OUTDOOR MONMOUTH COUNTY, NEW JERSEY FLAG, NYLON, SINGLE-SIDE REVERSE CUSTOM COUNTY FLAG DESIGN TO BE PROVIDED IN VECTOR ARTWORK FLAG TO WEIGH NO LESS THAN 13.9 OZ. Packaging: <u>Poly Bagged</u> MFG/Brand: <u>annin</u> Product No: <u>Custom</u> Variances, if any: <u>n/a</u>	5 EACH	\$107.62	\$538.10

REQUEST FOR BID

----- This Is Not An Order -----



Monmouth County Purchasing
Hall of Records, 3rd Floor
1 East Main Street
Freehold, NJ 07728
(732) 431-7370 Fax (732) 431-7379

Contact: Sophia Giezey
 732-431-7370 x7381

FURNISH AND DELIVER FLAGS FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2025 THROUGH DECEMBER 31, 2025 (MONMOUTH COUNTY CO-OP)

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
9	5' X 8' OUTDOOR MONMOUTH COUNTY, NEW JERSEY FLAG, NYLON CUSTOM COUNTY FLAG DESIGN TO BE PROVIDED IN VECTOR ARTWORK FLAG TO WEIGH NO LESS THAN 1.29 LBS. Packaging: <u>Poly Bagged</u> MFG/Brand: <u>annin</u> Product No: <u>Custom</u> Variances, if any: <u>n/a</u>	5 EACH	\$171.25	\$856.25
10	3' X 5' OUTDOOR DOUBLE-SIDED POW FLAG, NYLON FLAG TO WEIGH NO LESS THAN 9.8 OZ. Packaging: <u>Poly Bagged</u> MFG/Brand: <u>Eder</u> Product No: <u>Z04020103001</u> Variances, if any: <u>n/a</u>	10 EACH	\$40.48	\$404.80
11	4' X 6' OUTDOOR DOUBLE-SIDED POW FLAG, NYLON FLAG TO WEIGH NO LESS THAN 13.9 OZ. Packaging: <u>Poly Bagged</u> MFG/Brand: <u>Eder</u> Product No: <u>Z04020104001</u> Variances, if any: <u>n/a</u>	5 EACH	\$49.52	\$247.60
12	5' X 8' OUTDOOR DOUBLE-SIDED POW FLAG, NYLON FLAG TO WEIGH NO LESS THAN 1.29 LBS. Packaging: <u>Poly Bagged</u> MFG/Brand: <u>Flagzone</u> Product No: <u>Z04020105001</u> Variances, if any: <u>n/a</u>	5 EACH	\$68.68	\$343.40
13	4' X 6' INDOOR UNITED STATES FLAG, NYLON FLAG TO WEIGH NO LESS THAN 13.9 OZ.	10 EACH	\$53.29	\$532.90

REQUEST FOR BID

----- This Is Not An Order -----



Monmouth County Purchasing
Hall of Records, 3rd Floor
1 East Main Street
Freehold, NJ 07728
(732) 431-7370 Fax (732) 431-7379

Contact: Sophia Giezey
732-431-7370 x7381

FURNISH AND DELIVER FLAGS FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL,
AS NEEDED FOR THE PERIOD JANUARY 1, 2025 THROUGH DECEMBER 31, 2025 (MONMOUTH
COUNTY CO-OP)

Table with 5 columns: ITEM#, DESCRIPTION, QUANTITY/UNIT, UNIT PRICE, TOTAL PRICE. Contains 4 rows of flag specifications (items 14, 15, 16, 17) with handwritten details for packaging, brand, and pricing.

REQUEST FOR BID

---- This Is Not An Order ----



Monmouth County Purchasing
Hall of Records, 3rd Floor
1 East Main Street
Freehold, NJ 07728
(732) 431-7370 Fax (732) 431-7379

Contact: Sophia Giezey
 732-431-7370 x7381

FURNISH AND DELIVER FLAGS FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2025 THROUGH DECEMBER 31, 2025 (MONMOUTH COUNTY CO-OP)

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
18	4' X 6' INDOOR MONMOUTH COUNTY, NEW JERSEY FLAG, NYLON CUSTOM COUNTY FLAG DESIGN TO BE PROVIDED IN VECTOR ARTWORK FLAG TO WEIGH NO LESS THAN 13.9 OZ. Packaging: <u>Poly Bagged</u> MFG/Brand: <u>annin</u> Product No: <u>Custom</u> Variances, if any: <u>n/a</u>	10 EACH	\$102.79	\$1,027.90
19	3' X 5' INDOOR MONMOUTH COUNTY, NEW JERSEY FLAG, NYLON, WITH POLE HEM, TABS AND GOLD FRINGE TRIM CUSTOM COUNTY FLAG DESIGN TO BE PROVIDED IN VECTOR ARTWORK FLAG TO WEIGH NO LESS THAN 9.8 OZ. Packaging: <u>Poly Bagged</u> MFG/Brand: <u>annin</u> Product No: <u>Custom</u> Variances, if any: <u>n/a</u>	5 EACH	\$128.17	\$640.85
20	4' X 6' INDOOR MODIFIED NYLON POW MIA FLAG, DOUBLE EMBLEM, POLE HEM, TABS AND WHITE FRINGE FLAG TO WEIGH NO LESS THAN 13.9 OZ. Packaging: <u>Poly Bagged</u> MFG/Brand: <u>Eder</u> Product No: <u>070147 PHE</u> Variances, if any: <u>n/a</u>	6 EACH	\$92.10	\$552.90
21	4' X 6' OUTDOOR KILLED IN ACTION (KIA) FLAG, NYLON BACKGROUND COLOR - RED, EMBLEM AND LETTERING COLOR - BLACK AMERICA REMEMBERS FLAG TO WEIGH NO LESS THAN 13.9 OZ.	5 EACH	\$107.02	\$538.10

REQUEST FOR BID

----- This Is Not An Order -----



Monmouth County Purchasing
Hall of Records, 3rd Floor
1 East Main Street
Freehold, NJ 07728
(732) 431-7370 Fax (732) 431-7379

Contact: Sophia Giezey
 732-431-7370 x7381

FURNISH AND DELIVER FLAGS FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2025 THROUGH DECEMBER 31, 2025 (MONMOUTH COUNTY CO-OP)

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: <u>Poly Bagged</u> MFG/Brand: <u>annin</u> Product No: <u>custom</u> Variances, if any: <u>n/a</u>			
22	3' X 5' OUTDOOR HONOR AND REMEMBER FLAG, NYLON FLAG TO WEIGH NO LESS THAN 9.8 OZ. Packaging: <u>Poly Bagged</u> MFG/Brand: <u>Flagzone</u> Product No: <u>2111957</u> Variances, if any: <u>n/a</u>	5 EACH	\$52.45	\$262.25
23	4' X 6' INDOOR NYLON ARMY FLAG WITH POLE HEM, TABS AND FRINGE FLAG TO WEIGH NO LESS THAN 13.9 OZ. Packaging: <u>Poly Bagged</u> MFG/Brand: <u>Flagzone</u> Product No: <u>203010104003</u> Variances, if any: <u>n/a</u>	5 EACH	\$65.90	\$329.50
24	4' X 6' INDOOR NYLON NAVY FLAG WITH POLE HEM, TABS AND FRINGE FLAG TO WEIGH NO LESS THAN 13.9 OZ. Packaging: <u>Poly Bagged</u> MFG/Brand: <u>Flagzone</u> Product No: <u>203020104003</u> Variances, if any: <u>n/a</u>	5 EACH	\$65.90	\$329.50
25	4' X 6' INDOOR NYLON AIR FORCE FLAG WITH POLE HEM, TABS AND FRINGE FLAG TO WEIGH NO LESS THAN 13.9 OZ. Packaging: <u>Poly Bagged</u> MFG/Brand: <u>Flagzone</u> Product No: <u>203040104003</u> Variances, if any: <u>n/a</u>	5 EACH	\$65.90	\$329.50

REQUEST FOR BID

----- This Is Not An Order -----



Monmouth County Purchasing
 Hall of Records, 3rd Floor
 1 East Main Street
 Freehold, NJ 07728
 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Giezey
 732-431-7370 x7381

FURNISH AND DELIVER FLAGS FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2025 THROUGH DECEMBER 31, 2025 (MONMOUTH COUNTY CO-OP)

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
26	4' X 6' INDOOR NYLON MARINE FLAG WITH POLE HEM, TABS AND FRINGE FLAG TO WEIGH NO LESS THAN 13.9 OZ. Packaging: <u>Poly Bagged</u> MFG/Brand: <u>Flagzone</u> Product No: <u>Z03030104003</u> Variances, if any: <u>n/a</u>	5 EACH	\$49.90	\$329.50
27	4' X 6' INDOOR NYLON COAST GUARD FLAG WITH POLE HEM, TABS AND FRINGE FLAG TO WEIGH NO LESS THAN 13.9 OZ. Packaging: <u>Poly Bagged</u> MFG/Brand: <u>Flagzone</u> Product No: <u>Z03050104003</u> Variances, if any: <u>n/a</u>	5 EACH	\$65.90	\$329.50
28	20" X 8' NYLON PULLDOWN, 50 STARS WITH RED AND WHITE STRIPES Packaging: <u>Poly Bagged</u> MFG/Brand: <u>Eder</u> Product No: <u>Z301100045</u> Variances, if any: <u>n/a</u>	5 EACH	\$26.82	\$134.10
29	3' X 6' NYLON FAN BUNTING WITHOUT STARS Packaging: <u>Poly Bagged</u> MFG/Brand: <u>Flagzone</u> Product No: <u>Z112117</u> Variances, if any: <u>n/a</u>	5 EACH	\$35.03	\$175.15
30	4' X 8' NYLON FAN BUNTING WITHOUT STARS Packaging: <u>Poly Bagged</u> MFG/Brand: <u>Eder</u> Product No: <u>Z11410001</u> Variances, if any: <u>n/a</u>	5 EACH	\$64.14	\$320.70

REQUEST FOR BID

----- This Is Not An Order -----



Monmouth County Purchasing
Hall of Records, 3rd Floor
1 East Main Street
Freehold, NJ 07728
(732) 431-7370 Fax (732) 431-7379

Contact: Sophia Giezey
 732-431-7370 x7381

FURNISH AND DELIVER FLAGS FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2025 THROUGH DECEMBER 31, 2025 (MONMOUTH COUNTY CO-OP)

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
31	18' X 36" SEWN STRIPES APPLIQUED STARS PLEATED FAN, POLY-COTTON FAN BUNTING Packaging: <u>Poly Bagged</u> MFG/Brand: <u>Bridges</u> Product No: <u>Z11119</u> Variances, if any: <u>N/A</u>	5 EACH	\$13.74	\$68.70
32	3" X 6" NYLON MOURNING FAN Packaging: <u>Poly Bagged</u> MFG/Brand: <u>Eder</u> Product No: <u>708080133001</u> Variances, if any: <u>N/A</u>	5 EACH	\$43.70	\$218.50
33	20" X 8" NYLON MOURNING PULLDOWN Packaging: <u>Poly Bagged</u> MFG/Brand: <u>Eder</u> Product No: <u>070319</u> Variances, if any: <u>N/A</u>	5 EACH	\$27.40	\$137.25
34	ANNIN (#697-461) FLOOR STANDS, LIBERTY, GOLD FINISH Packaging: <u>Boxed</u> MFG/Brand: <u>annin</u> Product No: <u>7311097401</u> Variances, if any: <u>N/A</u>	5 EACH	\$47.23	\$236.15
35	CLASSIC UNIVERSAL TOPPER, SPEAR FLAG TOP, BRASS COLOR Packaging: <u>Boxed</u> MFG/Brand: <u>annin</u> Product No: <u>7311097370</u> Variances, if any: <u>N/A</u>	5 EACH	\$23.84	\$119.20

REQUEST FOR BID

--- This Is Not An Order ---



Monmouth County Purchasing
Hall of Records, 3rd Floor
1 East Main Street
Freehold, NJ 07728
(732) 431-7370 Fax (732) 431-7379

Contact: Sophia Giezey
732-431-7370 x7381

FURNISH AND DELIVER FLAGS FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL,
AS NEEDED FOR THE PERIOD JANUARY 1, 2025 THROUGH DECEMBER 31, 2025 (MONMOUTH
COUNTY CO-OP)

Table with 5 columns: ITEM#, DESCRIPTION, QUANTITY/UNIT, UNIT PRICE, TOTAL PRICE. Contains 4 items (36-40) with handwritten details for packaging, MFG/Brand, Product No, and Variances.

REQUEST FOR BID

----- This Is Not An Order -----



Monmouth County Purchasing
Hall of Records, 3rd Floor
1 East Main Street
Freehold, NJ 07728
(732) 431-7370 Fax (732) 431-7379

Contact: Sophia Giezey
732-431-7370 x7381

FURNISH AND DELIVER FLAGS FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL,
AS NEEDED FOR THE PERIOD JANUARY 1, 2025 THROUGH DECEMBER 31, 2025 (MONMOUTH
COUNTY CO-OP)

Table with 5 columns: ITEM#, DESCRIPTION, QUANTITY/UNIT, UNIT PRICE, TOTAL PRICE. Contains items 41 and 42 with handwritten details like 'NO Bid', 'Boxed', 'Eder', '730300051', and 'n/a'.

VETERAN'S INTERMENT (TO BE DELIVERED IN ONE SHIPMENT PER ITEM SPECIFICATION)

Large empty table structure for item specifications.

REQUEST FOR BID

---- This Is Not An Order ----



Monmouth County Purchasing
Hall of Records, 3rd Floor
1 East Main Street
Freehold, NJ 07728
(732) 431-7370 Fax (732) 431-7379

Contact: Sophia Giezey
732-431-7370 x7381

FURNISH AND DELIVER FLAGS FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2025 THROUGH DECEMBER 31, 2025 (MONMOUTH COUNTY CO-OP)

Table with 4 columns: ITEM#, DESCRIPTION, QUANTITY/UNIT, UNIT PRICE, TOTAL PRICE. Row 1: 43 AMERICAN FLAG - 12" X 18" U.S. FLAG ON 3/8" STAFF: 48,000 EACH \$1.15 \$55,200.00

TOTAL: \$70,475.59

****SEE ATTACHED ARTWORK OF THE MONMOUTH COUNTY CUSTOM FLAG ARTWORK

****GROUP #1 (FACILITIES MANAGEMENT) ITEMS ARE ON-CALL FOR JANUARY 1, 2024 THROUGH DECEMBER 31, 2025 - PRODUCT SAMPLES ARE NOT REQUIRED FOR THIS GROUP

****GROUP #2 (VETERAN'S INTERMENT) ITEM IS TO BE DELIVERED AS A LUMP SUM NO LATER THAN MARCH 7, 2025 - PRODUCT SAMPLE FLAG IS REQUIRED FOR THIS GROUP ONLY